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	Unit/	Comment by Johnson, Lila: The header rows do not need to be translated. This text will subtracted from the total word count (1266-78=1188)
Question Number
	Section
	Question
	Correct answer
	Incorrect answer
	Incorrect answer
	Incorrect answer

	1/1	Comment by Johnson, Lila: Please ensure the question number and section number remain the same in the translated document.
	1
	Which of the following institutions can be considered a precursor of the modern hospital?
	monastery	Comment by Johnson, Lila: Each LMS question has 1 correct and 3 incorrect answers. Please ensure that the correct answer is in the green column.
	townhall
	guild
	city hall

	1/2
	2
	According to Roemer, tax is part of which healthcare system function? 
	economic support mechanism
	delivery of services
	management methods
	production of resources

	1/3
	3
	Which of the following is a health system indicator corresponding to the service delivery building block of the WHO?
	number of outpatient visits per 10,000 population
	general government expenditure on health as a proportion of general government expenditure
	existence of an up-to-date national health strategy linked to national needs and priorities
	the ratio of household out-of-pocket payments for health to total expenditure on health

	1/4
	4
	The legally binding definition of healthcare services available is the prerogative of which of the following?
	government
	health insurer
	pharmaceutical industry
	patient representatives

	1/5
	5
	The collection of waiting time data is an example of which of the following?
	performance monitoring
	regulation
	moral hazard
	agenda setting

	Unit/
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	Incorrect answer
	Incorrect answer

	2/1
	1
	Primary care is usually delivered by …
	.. a general practitioner (GP).
	… a specialist doctor.
	… a hospital doctor.
	… a virologist.

	2/2
	1
	Which of the following activities is generally considered to be in the domain of primary care doctors? 
	treatment of common diseases and injuries
	treatment of acute, life-threatening injuries
	CT scan diagnostics
	spinal cord surgery

	2/3
	3
	Which of the following is correct about hospital payment systems in most healthcare systems?
	Hospital payment is largely based on case-based payment.
	Hospital payment relies exclusively on case-based payments.
	Fee-for-service payments make up most hospital income.
	Hospitals depend on user co-payments to sustain their operations.

	2/4
	4
	What is the first step in the process of making a medicine available in a healthcare system?
	market authorization
	price negotiations between pharmaceutical companies and payers
	completion of reference pricing procedures
	successful discount negotiations between pharmaceutical companies and payers

	2/5
	4
	Which of the following is the central challenge in implementing outcomes-based payment for medicines?
	identifying relevant outcomes for the long-term health of the target population
	identifying short-term surrogate parameters for treatment success
	agreeing on appropriate bonus payments
	involving patient representatives in the definition of outcomes
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	3/1
	1
	What is the numerus clausus in the education of healthcare professionals?
	an access restriction to medical university/medical school
	the number of patients a doctor needs to treat before graduation
	the name of the final exam at medical school in most countries
	the Latin name for residency program

	3/2
	2
	What impact can “non-physician providers” have on the supply and demand for health workers? 
	They can alleviate the demand pressure on doctor services.
	They have no relevant impact on the labor market.
	They reduce the retirement age of doctors.
	They increase pay for nurses.

	3/3
	2
	Which of the following policies for rural areas in low- and middle-income countries is central to addressing health worker shortages?
	public sector employment of health workers
	public housing subsidies
	legal limits on working hours
	investment in cultural amenities

	3/4
	3
	What is a common role of medical chambers?
	keeping a registry of their members
	negotiating doctor salaries
	representing doctors’ interests with pharmaceutical companies
	providing affordable housing to their members

	3/5
	4
	What is at the core of the OECD methodology regarding the measurement of health worker migration? 
	annual health worker registry data and place of training data
	health worker place of birth data
	health worker nationality data
	health worker surveys in OECD member countries
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	Correct answer
	Incorrect answer
	Incorrect answer
	Incorrect answer

	4/1
	1
	Why are theoretical models of perfect market competition relevant for healthcare efficiency analysis?
	They explain the conditions for achieving technical and allocative efficiency.
	They provide the optimal level of healthcare expenditure for a healthcare system.
	They determine the most efficient level of healthcare demand.
	They provide the most efficient level of healthcare supply.

	4/2
	1
	Which of the following items is an example of a positive externality in healthcare?
	the decision of individuals to get vaccinated
	a pay increase for doctors
	the relative poverty of individuals
	disrespect of hygiene standards

	4/3
	1
	Which of the following metrics is an example of healthcare utilization?
	number of hospital discharges
	number of doctors
	number of medicines available
	healthcare expenditure as a percentage of GDP

	4/4
	2
	What is the contribution of the WHO World Health Report 2000 to the efficiency debate?
	It proposed a framework for the comparative analysis of healthcare system performance.
	It identified the optimal level of healthcare expenditure.
	It focused on “responsiveness” as the key to efficiency.
	It invented the concept of “mortality amenable to healthcare” as the focus of efficiency analysis.

	4/5
	2
	What benefit does the focus on “mortality amenable to healthcare” bring to the efficiency analysis of healthcare systems?
	It focuses on outcomes that can be attributed to the healthcare system.
	It widens the perspective to factors outside the healthcare system.
	It underlines the importance of amenities for healthcare system performance.
	It highlights the mortality that cannot be influenced by healthcare systems.
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	5/1
	1
	Why is redistribution for public health reasons justified according to Walzer?
	It creates and sustains a sense of community.
	The poor benefit most.
	The rich benefit most.
	It limits the influence of the community over the individual.

	5/2
	1
	Which of the following is the central equity principle of libertarianism?
	respect and enforcement of private property rights
	no equity principle in libertarianism
	maximizing the utility of the poor
	minimizing the tax burden

	5/3
	1
	Which of the following objectives is a horizontal equity objective?
	equal access to emergency care for equally urgent care needs
	high insurance contributions for the wealthy
	unequal treatment for unequal needs
	maximum healthcare resources for the young

	5/4
	1
	Which of the following is a central precondition for a benefit incidence analysis?
	a classification of the population in socio-economic groups
	complete administrative records regarding utilization
	inflation-adjusted price information
	demographic information on the target population

	5/5
	2
	Why is value-added tax a regressive source of financing?
	It disproportionately affects poorer households.
	It regresses to the mean over time.
	It increases the wealth of poorer households.
	It interferes with the stock market.
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	6/1
	1
	What is the key role of the German G-BA?
	formulating directives that shape the delivery of healthcare
	controlling healthcare costs
	harmonizing the views of payers and providers
	increasing quality of care

	6/2
	1
	Where do German specialist doctors practice?
	in a hospital and an outpatient setting
	in a hospital setting
	in an outpatient setting
	in university hospitals

	6/3
	2
	What is the key role of general practitioners in the English NHS?
	controlling access to specialist and hospital care
	controlling healthcare costs
	reducing waiting times
	ensuring after-hours care

	6/4
	3
	A deductible in the U.S. healthcare system is …
	… the share of costs borne by the patient before insurance coverage.
	... a discount on the price of hospital care.
	.. a discount on the price of outpatient care.
	… a Medicaid membership option.

	6/5
	4
	Why is South Africa pursuing a national health insurance system?
	because of problems with the coexistence of the public and private healthcare systems
	to meet demands by the United Nations
	because the social health insurance system failed
	because of the recommendations in the Beveridge report




